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2. O Hzks A=
(a) In modern periodic table, ........, The [daeo]]

(IUPAC) has
numbered 1 through 18.
(b) [Alete]]
between the inherent uncertainties in the [3Fgho]]
and [gto]] of an

recommended that the groups be

, which states that there is a relationship

electron moving In the x

direction:

AxApx = h/4m.
(c) The [3+¢+o]] quantum number 7 is prilimarily
responsible for determining the overall energy if an
atomic orbital. ... The [F%9] quantum number /

determines the angular momentum of the orbital or
shape of the orbital and has a smaller effect on the
energy.

(d) The 2s orbital has one [T
zero electron density.

(e)When the orbitals are [3Fcho]]
energy), both Coulombic and [3F¢te]] energies favor

o],

a surface with
(have the same

the unpaired configuaration over the paired

configuration.
() [Feto]]
remove an electron from a negative ion, wherease
the [F&o]
electron from a gaseous atom or positive ion.

(g) The species CO3*", NO3 , and SOj, are [grgho]]

(have the same electronic structure). Their Lewis

can be defined as the energy required to

is the energy required to remove an

structures are identical, except for the identity of the
central atom.

(h) Experimentally, the polarity of the molecules is
[F%°]], which

is the ratio of the capacitance of a cell filled with

measured indirectly by measuring the

the substance to be measured to the capacitance of

the same cell with a vacuum between the electrodes.

(1) In the reflection operation, the molecule contains
a [gr=te]] plane.

G A [AHEA] s
characters of 1 for all operations

included in all groups, with
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(@) Ao FEE vetdles F53red 1 duA F95
#%=38}e}. (particle in a box)

b)) 99 PA7F FAE no= 1, 2, 3, 4 S AH &
g s HHE e Uede S fEsteh
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(@) 9 ARl Fepe] Hae] APt g L=24 4 W ¥
A4 n =1, 2, 3 o tiste] oA F915 Atstet.
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4. FaYA e digte] Schrodinger WAAS EAT}. tha
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(a) Radial function ©],

|
2  FojAX 1 angular function ©] Y= 2N 7

Z FoAE FEFFE o= ugS YR o7
A 0 = Zr/a, (Z=1) ©]3 a, ¥ W5 (Bohr radius) ©|
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(b) (@) vEeo 9SS ¥ (nodedt 94, & & A
g3 xAD

(¢) Radial functions r-Zol tjsle] 12}
(d) Radial probability (distribution) functiong r—3ol
a1 R =2 =

5. Agzpel wisto] thgoll wetet,
(@  71A%e AAEA|
configuration)& A &}

(b) 2s 2B Eel = HAES (n, |, m, ms) #S Az}
(¢) 2p ¥l A& HAAEES WXt 7 71A 7t
W22

@ (o) o F 7kA wiAdl tjste] o= mjx|7} 1§ o]
FEIZE REertE detr 2 skak 919 7kA Hi A9
tste] Z+Z} Coulombic energy ¢ exchange energy<]
Mg T3t

(e) ()9 F 7HA HjA|
2742 (7 = *e* )
(D) 71A%48 Ao 2A%As (S) =

(g) Slater's ruleg ARE3}e] 2 dA}o] 25 eH|E
2p H"o]l =7l faddst

& o

(ground-state electron

< ol wjA ] oA Fejf
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(effective nuclear

charge)
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6. tho] o3} U= Ao = iE
Qe Fa 9AE 35’ A7) EE wE
o) wge Fabelet

LE (MJmol™)
H(g) ---> H'(g) + e~ 1.3120
He'(g) --—> He* (g) + e 5.2504
Li*(g) -——> Li*"(g) + e 11.8149

7. K& Br & o3} oUXA| 7t & A7 1 olf&?

8. = } = o]29 Lewis
k] 7} Qe 5 a#el)

(a) VOCls , (b) PCl3, (c) SOFy4, (d) ClOz, (f) ClOs
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9. 89] ®AEE o] tjste] VSEPRY m& FxE 1
& 2},

10. 89 EAEE= o]2o] ofx Al £Héh=A A2t

11. &9 %= ®wa gstg)

o o 714 B

Planck constant : h = 6.626 x 107 Js

Speed of light : ¢ = 2.997 x 10° m/s

e =-1602 x 1077 C
Vacuum permitivity : e, = 8.854 x 1072 C¥Jm
me. = 9.109 x 107" kg
Avogadro's number @ Na= 6.022 x 10% /mol
R = 8.314 J/K'mol

Ry = 1.097 x 10° cm™!

Electron charge :

Mass of electron :

Gas constant :

Rydberg constant :

& 35
dEztn gek 2ol
El g wet g

#etzk Zo| Zgz 2ol 82 ol gzt 2ol
24 *) (pm) B4 ) (pm) 23 ) (pm) 25} ) (pm)
Hy0 1045 97 OF, 1033 ocl, 110.9
Hy$ 92 135 SFy 98 159 8ClIy 103 201
HaSe 91 146
HyTe 90 169
NH; 106.6 1015 NF; 1022 137 NCly 106.8 175
PH; 93.8 142 PF; 978 157 PCl; 1003 204 PBr; 101 220
AsHy 91.83 1519 AsFy 9.2 1706 AsClz 97.7 217 AsBr; 97.7 236
SbH; 91.3 170.7 SbF, 873 19 SbCly 97.2 2 SbBry 95 249

E3: N. N. Greenwood and A. Earshaw, Chemiistry of the Elements, 2nd ed., Butterworth-Heinemann, Oxford, 1997, pp. 357, 767; A. F.
Wells, Structural Inorganic Chemistry, Sth ed., Oxford University Press, Oxford, 1987, pp. 705, 793, 846, and 879.

(a) NHs, PHs, AsHs, SbH3¢] Adgtzte] 7S Hol: o
2 e,

(b) PFs, PCls, PBrzo ZAgtzlo] A3k
2},
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12. A7) SAES Qoah= Wilol= Mullikene] #1724
%, Pauling®] A7]&A4%E, Allred-Rochow?] A7 %=
S0l AT} o5 Aol st 7]&stoi)

13. vh&e A 2

(a) CH4 (b) p—dichlorobenzene (c) cyclohexane (chair)

(d) wine glass (e) H20

14. (a) 13(e)9] Hto] 43f+= EE symmetry operation
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Owner
대하여 의 모든 (b) y=x (a) symmetry operation
들에 대한 값들은 character ? (irreducible representation
을 찾으라는 뜻) 문제 성립 안됨 ( )
함수는 이 점군에서 어느 에 속하 (c) y=x symmetry type
는 가? 문제 성립 안됨 ( )

Owner
함수에


